BAI TOAN RUT VE PON VI (TT)

1. C6 48 cdi dia xép déu vao 8 hop. Héi 30 cai dia thi dugc vao
may hdp nhu thé?
48 dishes are put evenly into 8 boxes. How many such boxes are
needed to contain 30 dishes?

Tom tat Bai giai
Dap so: ........................ hop

2. Mét ngudi di xe dap trong 12 phat di dwe'c 3km. Héi néu cir dap déu
nhu vay trong 28 phdt thi di dwgc may ki-16-mét?
The distance covered by a cyclist in 12 minutes is 3km. If he cycles
steadily like that in 28 minutes, how many km can he cover?
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